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QUESTION 1

You are deploying IP phones in your enterprise networks. When plugged in, the IP phones mustbe automatically
provided with the correct VLAN ID needed for sending voice traffic to the EX Series switches.

In this scenario, which two solutions are required to accomplish this task? (Choose two.)

A. Enable LLDP-MED on appropriate access interfaces.

B. Create two VLANs and assign them as VLAN members to the appropriate access interfaces.

C. Enable the voice VLAN feature with the appropriate access interfaces and VLAN ID for voice traffic.
D. Use LLDP on appropriate interfaces.

Correct Answer: AC

QUESTION 2

Which three configuration parameters must match on all switches within the same MSTP region? (Choose three.)
A. VLAN to instance mapping

B. revision level

C. configuration name

D. bridge priority

E. region name

Correct Answer: ABE

When enabling MSTP, you define one or more MSTP regions. An MSTP region defines a logical domain where multiple
spanning-tree instances (MSTIs) can be administered independently of MSTlIs in other regions, setting the boundary for

bridge protocol data units (BPDUs) sent by one MSTI. An MSTP region is a group of switches that is defined by three
parameters:

Region name--User-defined alphanumeric name for the region.
Revision level--User-defined value that identifies the region.

Mapping table--Numerical digest of VLAN-to-instance mappings. https://www.juniper.net/documentation/us/en/software/j
unos/stp-12/topics/topic-map/spanning-tree-configuring-mstp.html

QUESTION 3

A Layer 2 connection does not expend across data centers. The IP subnet in a Layer 2 domain is confined within a
single data center. Which EVPN route type is used to communicate prefixes between the data centers?
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A.Type 1l
B. Type 2
C.Type 4
D. Type 5
Correct Answer: D

https://www.juniper.net/documentation/us/en/software/junos/evpn-vxlan/topics/concept/evpn-route-type5-understanding.
html#:~:text=In%20the%20control%20plane%2C%20EVPN,subnet%20connectivity%20across%20data%?20centers.

QUESTION 4

You are deploying an 802.1X solution and must determine what would happen if clients are unable to re-authenticate to
the RADIUS server.

In this scenario, which configuration would provide access to the network if the supplicant is alreadyauthenticated?
A. move

B. permit

C. deny

D. sustain

Correct Answer: D

QUESTION 5

Which two statements are correct regarding the behavior shown in the exhibit? (Choosetwo.)

userf@router> show ospf interface

Interface State Area DR ID BDER. ID Nbrs
ge=1/1/0.0 EDR 0.0.0.0 162.188.10.2 182.168.10.1 1
lo0.0 DR 0.0.0.0 192.168.10.1 0.0.0.0 Q
ge-1/1/0.0 PtToPT 0.0.0.100 0.0.0.0 0.0.0.0 1
ge=-1/1/2.0 DR 0.0.0.100 192.168.10.1 10.200.0.2 1

A. The ge-1/1/0 interface is configured as secondary for Area O.
B. The router is an ABR.

C. The router is not an ABR.

D. The ge-1/1/0 interface is configured as secondary for Area 100.

Correct Answer: BD
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